Rod Mount Module / Z Angle Brackets | POSB/BLZ

Rod Mount Modules attach directly to vibration isolator or laboratory bench tables . Attachinga Z
bracket at a right angle to the rod allows for horizontal adjusment.
) ) o ) ) Application
® The rod is composed of stainless steel and a vibration damping material. Systems
Compatible for 50mm and 50.8mm matrix mounting hole
Optics &
Optiqal
T Opto-
Mechanics
[l Bases
Manual
Stages
Actuators &
POSB-177UN BLZ POSB-177UN + BLZ-60 Adjusters
. . Motoeized
Outline Drawing Stages
POSB-UN POSB-* *%UN**EE/UU | 407 .
H Ket H ket 5 911 counterbore depth 7 nght Sources &
B fcad%an sorew 0 fe2atan sorew e /@ Laser Safety
M6x15...4 screws M6x15...4 screws
oo}
N
Index
60
46 _26.8 25 25
| 65
; If_—;—\ 8-M4 depth 7 s
0 9-D ¢3b.1 0
3 ‘;E (\\ . depth 7 n Guide
N
o \ < > © ©f - "
. M16 P1 depth 6 o ZE o i -
© 0 < Optical Tables
» Barksamey
I r—— B
4-37 mountin ﬁile / 50.4 ‘ ‘ 50.4(Compatible for 50mm and 50.8mm matrix mounting hole) | ‘ ‘ 50.4({Compatible for 50mm and 50.8mm matrix mounting hole) ODﬁca| Bases
4 9 (Compatible with 50 and 50.8) 88 $88
@11 counterbore
Posts
BLZ-60 BLZ-65EE/65UU BLZ-6550EE/6550UU
E Hexagon socket head cap screw E Hexagon socket head cap screw M6x15...4 screws(EE) E Hexagon socket head cap screw M6x12...2 screws(EE) Brackets
M4x12...4 screws Hexagon socket head cap screw 1/4-20UNCx5/8...4 screws(UU) Hexagon socket head cap screw 1/4-20UNCx1/2....2 screws(UU)
3 3-D 3-D
M6 P1depth ~ ~ ,, ZMadepins depth7\s B 7 depth7\ 8 B 6p 7 Adapters
6-M4 depth 7 | % 60 ~ 58 »
V ‘ through hole through hole
TP CEY mré 0 Tools
Nr ol mr o ’s ~ & ¥es 0
d © L4 d @ A4 )
?‘L . o S o~ :nL N E o an =1 &
¢ (9 e @ @ o o o 9 P o o ¢ 3 N
i | pr— annl M5 Fur— e | o T 4
50 | |\A-45 sl2s A 4-¢7 *ﬂd A |27 *EL t
60 45 65 475 65 225
g - Primary material: Stainless Steel (No finish)
Specmcatlons Coarse adjustment section material: Aluminum Finish: Black Anodized
A Weight
Part Number fmm] c D [kal
POSB-177UN 177.8 - - 2.1
POSB-355UN 355.6 — - 3.7
BOFOICoEE—— $ 0 s s . MePt 22
POSB-355UNG5EE 355.6 25 M6 P1 3.8
POSB-177UN65UU 177.8 25.4 1/4-20UNC 2.2
POSB-355UN65UU 355.6 25.4 1/4-20UNC 3.8
Primary material: Aluminum
Z Angle Brackets only Finish: Black Anodized
A B Weight
Part Number fmmi [mm] C D kol
BLZ-60 - - - - 0.18
BLZ-65EE 50 25 25 M6 P1 0.2
BLZ-65UU 50.8 25.4 25.4 1/4-20UNC 0.2
BLZ-6550EE 50 25 - M6 P1 0.14
BLZ-6550UU 50.8 254 - 1/4-20UNC 0.14
HOURS prme

www.hours-web.com



https://pan.baidu.com/s/1ZFWk-uQqqOb2hu5NswN8iA

Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D066

Damped Rod / Rod Mount | POs/POSB

ll Guide

P The POS is the damped rod.

P The BLZ model is the Z Angle Bracket.

2D|(3SD
CAD||CAD

Outline Drawing

POS-177EE/UU E Hexagon socket head cap screw M6x15...4 screws(EE)
POS-355EE/UU B Hexagon socket head cap screw 1/4-20UNCx1/2...4 screws(UU)

$12 counterbore depth 7

vibration insulator

<
@
B
$88
A B

Part Number (mm) (mm)
POS-177EE 177.8 50.4(Compatible for 50mm and 50.8mm matrix mounting hole)
POS-355EE 355.6 50.4(Compatible for 50mm and 50.8mm matrix mounting hole)
POS-177UU 177.8 50.4(Compatible for 50mm and 50.8mm matrix mounting hole)
POS-355UU 355.6 50.4(Compatible for 50mm and 50.8mm matrix mounting hole)

POSB-65EE/UU
9-B depth 7 &5
9-B depth 7 A A
o o o
<
[t} O o o
8 O—o0—0
<
tlo o o
©
&
7% o e}
©
©
<
il
A
Part Number (mm) B
POSB-65EE 25 M6 P1
POSB-65UU 25.4 | 1/4-20UNC

Specifications

Part Number [mAm] [mBm] V\I[Ie(ig]ht
POS-177EE 177.8 50 1.9
'POS-355EE | 86 o 4
POS-177UU 177.8 50.8 1.9
pos-3s0 | 36 s08 4
POSB-65EE 25 M6 P1 0.3
posB-65UU | %54 174200 s

HOURS

—
www.hours-web.com


https://pan.baidu.com/s/1SGyoH2QPWJ_RKBStoYiATg



